EUNVASRZIPAN=
1 12524 - IE A A e

G B 245

% fi: REEEHEL
B OB KBS

H #5: 0207

B K 526

L

2
BiF
>
A
v




MR 245 BITLRRIIASE 112 BEEEIHEEEZRRE
% T FEEEL

FEME EEE , EHEH 0207 0 B8R 12
B1E - H5H

X EERER  AREATERER - BNEES(RIES  NAREM LEEE  TFEs
— ~ BIEE(EE 3 4 - M5t e84)) :

1. Gordon is a senior majoring in computer network development at Smart State University. While he
has been attending college, Gordon started a computer consulting business to help senior citizens set up
their network connections and teach them how to use e-mail. Gordon charges $25 per hour for his
consulting services. Gordon also works 5 hours a week for the Economics Department to maintain that
department's Web page. The Economics Department pays Gordon $20 per hour. From this information
we can conclude:
a. Gordon should increase the number of hours he works for the Economics Department to make it
comparable to his consulting business income.
b. Gordon is obviously not maximizing his well-being if he continues to work for the Economics
Department.
c. If Gordon chooses one hour at the beach with his friends rather than spend one more hour with a
consulting client, the forgone income of $25 is considered a cost of the choice to go to the beach.
d. Both b and c are correct

2. Refer to the Figure. Which of the above marginal cost curves reflects the existence of diminishing

1 Marginal
marginal product? Cost (5) 5
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d. D
A b B
Quantity of
Output

3. Given a nominal interest rate of 6 percent, in which case would you earn the lowest after-tax real rate
of interest?

a. Inflation is 4 percent; the tax rate is 25 percent.

b. Inflation is 3 percent; the tax rate is 20 percent.

c. Inflation is 2 percent; the tax rate is 15 percent.

d. The after-tax real interest rate is the same for all of the above.
4. A reduction in the tax rate on income from saving would

a. most directly benefit the poor in the short run.

b. increase real wages over time.

c. decrease the capital stock over time.

d. decrease productivity over time.
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5. Suppose that a worker in Radioland can produce either 4 radios or 1 television per year, and a worker
in Teeveeland can produce either 2 radios or 5 televisions per year. Each nation has 100 workers, and
each country specializes according to the principle of comparative advantage. If Radioland trades 100
televisions to Teeveeland in exchange for 100 radios each year, then each country's maximum
consumption of new radios and televisions per year will be .

a. higher than it would be in the absence of trade because of the gains from trade,

b. the same as it would be in the absence of trade.

c. lessthan it would be in the absence of trade because neither country is specializing in the product for
which it has a comparative advantage.

d. lessthan it would be in the absence of trade because Teeveeland has an absolute advantage in both
goods and so it cannot benefit by trading with Radioland.

6. Which of the following is true?

a. Kremer argued that with greater population, society would generate more ideas so that growth of real
GDP per person could continue. Malthus argued that increasing population would outstrip agricultural
production.

b. Kremer argued that increases in population would reduce the amount of human and physical capital
per worker so that eventually the standard of living would decline. Malthus argued that increases in
technology would allow increased output growth so that even with population growth, society would
enjoy a higher standard of living.

c. Malthus argued that with greater population, society would generate more ideas so that growth of real
GDP per person could continue. Kremer argued that increasing population wouid outstrip agricultural
production.

d. Malthus argued that increases in population would reduce the amount of human and physical capital
per worker so that eventually the standard of living would decline. Kremer argued that increases in
technology would allow increased output growth so that even with population growth, society would
enjoy a higher standard of living.

7. Refer to the Table. This table shows a game played between two players, A and B. The payoffs in the
table are shown as (Payoff to A, Payoff to B). Which of the following outcomes represents a Nash

equilibrium in the game?

a. Middle-Center B
Lefi Center Right

b. Down-Center Up ) ) G35

c. Up-left A Middle [ G.D) | (.3) G.2)

d. More than one of the above is a Nash equilibrium in this Down | (1.3) (C)) (6.

game.
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8. Suppose for some firm that average total cost is minimized at Q1 units of output. For a monopolistically
competitive firm in long-run equilibrium, Q 4
a. is also the level of output at which marginal cost equals average total cost.
b. exceeds the level of output at which there is a point of tangency between the demand curve and the
average total cost curve.
c. exceeds the level of output at which marginal revenue equals marginal cost.

d. All of the above are correct.

9. Refer to the figure. Suppose MC1 is the marginal cost and MB1 is the marginal benefit curve for
information about a flat screen TV. Should a rational consumer pay $20 to get 8 units of information?

a. Yes, since at this price the marginal benefit of acquiring information

MC
exceeds its marginal cost. 25 - \\ ’\Iﬂ%
b. No, since at this price the marginal cost of acquiring information PR IS W
exceeds its marginal benefit. = | N/ J.\
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@

c. Yes, since at this price the marg‘inal benefit of acquiring information

equals its marginal cost.
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d. No, since at this price the marginal benefit of acquiring information
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exceeds its marginal cost. mount of Information

10. Which of the following is an example of frictional unemployment?

a. Doralost her job when the textile factory closed. She does not have skills to work in another industry

and has been unemployed for over a year.

b. Marsha was laid off from her job with the airline because the recession has reduced the demand for
airline travel. She expects to get her job back when the economy picks up.

C. George is an unskilled worker who mows lawns in the summer, but is unemployed the rest of the year.

d. Hector looked for a job for five weeks after finishing college. He turned down several jobs that didn't
make good use of his skills, but now has a job that requires the expertise he gained in college.

11, Starting from potential output, if consumer confidence increases and consumers decide to spend

more, then this will shiftthe __ curve to the right and generate

a. aggregate demand; a recessionary output gap
b. aggregate supply; a recessionary output gap
c. aggregate demand; an expansionary output gap

d. aggregate supply; an expansionary output gap
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12. Refer to the figure. Suppose that the economy is initially in equilibrium with output Y2 and inflation
rate of n3. An increase in military spending will generate:

Y*
. Infltion
a. arecessionary gap. e
b. an expansionary gap.
« . . xl"’"""‘" """": """
¢. disinfiation. :
d. hyperinflation. o i /

=
v
o
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13. The U.S. dollar exchange rate, e, where e is the nominal exchange rate expressed as Japanese yen per
U.S. dollar, will depreciate when:

a. real GDP in the U.S. increases.
b. real GDP in Japan increases.
c. the U.S. Federal Reserve tightehs monetary policy.

d. U.S. consumers decrease their preference for Japanese cars.
14. Which of the following equations is équivalent to the equation S - NX = I?

a. S+Ki=|

b. S-1=KI

c. S-KI=NX
d. S+1=NX-KI

15. Quick Buck and Pushy Sales produce and sell identical products and face zero marginal and average

cost. Below is the market demand and marginal revenue curves for the product.

Refer to the figure. If Quick Buck and Pushy Sales decide to collude
and work as a pure monopolist so that each firm will produce half the
quantity demanded by the market, what will be the economic profit
for Quick Buck?

a. $1,000
b. $1,500
c. $2,000

d. $3,000
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16. Suppose that a vaccine is developed for a highly contagious strain of flu. The likelihood that anyone
will get this flu decreases as more people receive the vaccine. One of the demand curves in the diagram
reflects private benefits and the other reflects social benefits.

Refer to the figure. Private incentives will lead to Price

MC
P . {1
people receiving the vaccine at a cost of . 100
90
a. 75;580 S0 \
60
b. 75;550 50 /
40 \
c. 50;$60 - N
-1 -2
d. 50;$90 \
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